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Read the following instructions carefully before you begin to attempt the questions.

INSTRUCTIONS TO CANDIDATE
This booklet contains 100 Questions in all comprising the following Four parts.

Part-(I) : General Intelligence and Reasoning (25 Questions)

Part-(ll) : Quantitative Aptitude (25 Questions)

Part-(lll) : General Awareness (25 Questions)

Part-(IV) : English Language (25 Questions)

All the questions are compulsory and carry equal marks.

Before you start to attempt the questions, you must explore this booklet and ensure that it contains all the pages
and find that no page is missing or replaced. If you find any flaw in this booklet, you must get it replaced
immediately.

Each question carries negative marking also as 0.5 mark will be deducted for each wrong answer.

You will be supplied the Answer-sheet separately by the invigilator. You must complete the details of Name, Roll
number, Test name/ld and name of the examination on the Answer-Sheet carefully before you actually start
attempting the questions. You must also put your signature on the Answer-Sheet at the prescribed place. These
instructions must be fully complied with, failing which, your Answer-Sheet will not be evaluated and you will be
awarded ‘ZERO’ mark.

Answer must be shown by completely blackening the corresponding circles on the Answer-Sheet against the
relevant question number by Black/Blue ball pen only.

A machine will read the coded information in the OMR Answer-Sheet. In case the information is incompletely/
different from the information given in the application form, the candidature of such candidate will be treated as
cancelled.

The Answer-Sheet must be handed over to the Invigilator before you leave the Examination Hall.

Failure to comply with any of the above Instructions will make a candidate liable to such action/penalty as may be
deemed fit.

Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy. Do
not spend too much time on any question.

Mobile phones and wireless communication device are completely banned in the examination halls/rooms.
Candidates are advised not to keep mobile phones/any other wireless communication devices with them even
switching it off, in their own interest. Failing to comply with this provision will be considered as using unfair means in
the examination and action will be taken against them including cancellation of their candidature.

No rough work is to be done on the Answer-Sheet.

No candidate can leave the examination hall before completion of the exam.
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General Intelligence and Reasoning

A series is given with one term missing. Select correct
alternative from the given ones that will complete the
series.

TAG, MVD, [?], YLX, RGU, KBR

(A) FQA (B) ERZ
(C) FRA (D) EQA
If P denotes ' - ', Q denotes ' x ', R denotes '+'and S

denotes '+, then what will be value of the following
expression?

64R2Q4S28P13=[7]

(A) 134 (B) 172

(C) 143 (D) 245

Choose the alternative that best replaces the question
mark [?] in the given figure.

27 [ 14 [ 32
7 |11 |13
76 | 135 | ?
(A) 209 (B) 201
(C) 237 (D) 253

Choose the one which is different.

Note: The words must be considered as meaningful
English words and must not be related to each other
based on the number of letters/number of
consonants/vowels in the word.

(A) Deer (B) Giraffe

(C) Bison (D) Tiger

Select the correct combination of mathematical signs
to replace the ™ signs and to balance the given

equation.

121*11*40*2*4*21*10

(A) =, x, = + x = B) = +,x,+ -, =
(C)+,-,+, =+, = (D)-,x,+ + =X

Which one set of letters when sequentially placed at
the gaps in the given letter series shall complete it?
AA_AB_ABC_A_C_E

(A) BCDBD (B) BCCBD

(C) AABCD (D) BABCD

A piece of paper is folded and punched as shown
below in the question figure. From the given answer
figures, indicate how it will appear when gganed?

B i [D =] i
> | o o
: 5 i x q
DD % adbD %
GO 90 o0 00
%% aD 3% QD
(A) (B)
AdD s dD %%
OO0 OO0 Qa 00
©) ww dD ©) ww dD
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Pointing towards a girl, Shilpa said, “She is daughter
of my husband’s wife”. How is Shilpa’s son related to
that girl?

(A) Brother (B) Paternal Uncle

(C) Nephew (D) Son

How many bat are neither bail nor pitch?

Bat
2/\8
1
5
Bail = 5 Wm

Pitth—__ 7\

(A)8 (B) 10
(C) 11 (D) 16

Select the option in which the numbers shares the
same relationship in set as that shared by the
numbers in the given set. (Note: Operations should
be performed on the whole numbers, without breaking
down the numbers into its constituents digits. E.g.,
Operation on 13 such as adding/subtracting/
Multiplying etc. to 13 can be performed. Breaking
down 13 into 1 and 3 and then performing
mathematical operations on 1 and 3 is not allowed)
(7, 5, 318)

(12, 8, 1664)
(A) (8, 6, 486)
(C) (10, 13, 881)

(B) (9, 11, 608)
(D) (6, 4, 190)

Select the option figure in which the given figure is
embedded. (Rotation is NOT allowed)

&

(A)

In a certain code language, 'NOTABLE' is coded as
'2212226201214', 'MINTOS' is coded as
'191220141813'. What is the code for 'PLUMBER' in
that code language?
(A) 182221361216
(C) 182423211216

(B) 92221361216
(D) 922213211216

Select the correct option that indicates the
arrangement of the given words in the order in which
they appear in an English dictionary.

1- Jealousy 2- Jets

3- Jeopardy 4- Jetliners
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5- Jersey 19. The second number in the given number pairs is
(A)1,4,3,5,2 (B)1,3,5,4,2 obtained by performing certain mathematical
(C)1,3,4,5,2 (D)1,3,5,2,4 operation(s) on the first number. The same
operation(s) are followed in all the number pairs,
14. If12@ 4 % 17=31and 56 % 8 @ 5 = 16, then 14 @ EXCEPT one. Find that odd number pair.
7%38="7 (A) 82: 60 (B) 61: 35
(A) 60 (B) 48 (C) 56: 21 (D) 13: 8
(C) 53 (D) 74
20. In a certain code language, 'ZEBRAS' is coded as
15. In the following questions below are given some 'VDUEHC', 'MOLTEN' is coded as 'QHWORP'. What
statements followed by some conclusions based on is the code for 'PRODUCE' in that code language?
those statements. Taking the given statements to be (A) HFYHRUS (B) HFXGURS
true even if they seem to be at variance from (C) HFYGRUS (D) HFXGRUS
commonly known facts, Read all the conclusions and
then decide which of the given conclusion logically 21. Select the option that is related to the third word in the
follows the given statements. same way as the second word is related to the first
Statements: I. Some Watch are Analog word. (The words must be considered as meaningful
Il. No Digital are Analog English words and must NOT be related to each other
Conclusion: I. All Watch are Digital based on the number of letters/number of
Il. No Digital are Watch consonants/vowels in the word)
lll. Some Watch are not Digital Japan: Yen :: Russia : [?]
(A) Only conclusion Il follows (A) Peso (B) Taka
(B) None of the conclusions follows (C) Rubble (D) Euro
(C) All the conclusions follow
(D) Only conclusion Il follows 22, Find the number of triangles in the given figure:
16. Select the figure from the given options that can
replace the question mark (?) in the following series.
EEERE
e 0%
0 |2 8| © (A) 12 (B) 14
(A) (B) (C) 13 (D) 11
ol® 23. In the following question, four number pairs are given.
] In each pair the number on the left side of ( - ) is
00 o] related to the number of the right side of ( - ) with
(C) (D) some Logic/Rule/Relation. Three pairs are similar on
basis of same Logic/Rule/Relation. Select the odd
17. Which of the following letter-clusters will replace the one out from the given alternatives. (NOTE:
question mark [?] in the given series to make it Operations should be performed on the whole
logically complete? numb.ers, wﬂhgut breaking down th.e numbers into its
GET, LBY, QYD, VI, ASN, FPS, [7] constituent digits. E.g. 13 - Operation on 13 such as
(A) XMK (B) LNY adding/subtraction/division etc. to 13 can be
(C) KMX (D) IHQ performed. Breaking down 13 into 1 and 3 and then
performing mathematical operations on 1 and 3 is not
18. If a mirror is placed on the line MN, then out of the allowed)
option figures which figure will be the right image of (A) 4560 - 2310 (B) 8970 — 6720
the question figure? (C) 7650 - 5300 (D) 9480 — 7230
I e SLELIL YL 24, Which of the following numbers will replace the
@dfQ%ry&k#$ question mark (?) in the given series?
64, 81, 100, ?, 144, 169, 196
i @aL%OME KR ) 125 (@ 225
& OATNIAS KR . ) |
25. Two different positions of the same dice are shown,

o OO KER
o OUALTNPIASH ¥R

the six faces are numbered from 1 to 6. Select the

number that will be on the top if the dice is resting on
l1l?
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[a] [b]
(A) 4 (B)6
(€3 (D)5

Quantitative Aptitude

The cost price of a can is ¥450. A seller bought 20
such cans and sold half of them at 16% profit, four
cans at 20% profit and remaining cans for %504,
each. Find the total profit earned by the seller.

(A) 21,848 (B) 1,224

(C) 1,404 (D) %1,364

The radii two concentric circles are 13 cm and 15 cm.
'A' and 'D' are the points on larger circle and 'B' and
'C' are points on smaller circle. If ABCD is a straight
line and BC = 10 cm, then what is the length of AD?
(A) 12 cm (B) 18 cm

(C) 20 cm (D) 16 cm

Present ages of 'A' and 'C' are in the ratio 5:8,
respectively. Present age of 'B' is 20% more than that
of 'A" and 8 years less than that of 'C'. Find the
present age of 'B'.
(A) 20 years
(C) 30 years

(B) 24 years
(D) 32 years

Aman and Ayush undertook a work for ¥6600. Aman
alone can do that work in 12 days and Ayush alone
can do the same work in 10 days. If they work
together then what will be the difference in the
amount they receive?
(A) T600

(C) 550

(B) 3500
(D) 3440

If x +;1( = 5+/5 then find the value of (xz - xiz)
(A) 5573 (B) 513
(C)5V5 (D) 5575

Average of 12 number is 52. A number is removed
then the average of remaining 11 number becomes
55. The number which was removed is:

(A) 17 (B) 15

(C) 19 (D) 21

How much interest a man would have received on a
principal of 12,500 after two years when it is
invested at simple interest of 12.5% p.a.?

(A) 23,125 (B) 3,155

(C) 24,550 (D) %4,250

A shopkeeper sold a TV for 5,330 after allowing 18%
discount on its marked price. Find the marked price of
the TV.

(A) %6,000
(C) 35,750

(B) 26,500
(D) 35,900
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When a person increases his speed by 40%, then he
takes 16 minutes less than his usual time to cover a
certain distance. Find the usual time taken by him to
cover the given distance.
(A) 55 minutes
(C) 56 minutes

(B) 54 minutes
(D) 40 minutes

If curved surface area of a right circular cylinder of
height 10 cm is 440 cm?, then find the volume of the
cylinder.

(A) 1540 cm?
(C) 1080 cm?®

(B) 1440 cm?
(D) 1260 cm3

Find the simplified value of the following expression:
(240 +8)+49 x 73+ 9 of 9 x 9 + 3 of 27

(A) 219 (B) 180

(C) 185 (D) 198

The table given below shows different number of
pens, pencils and erasers, sold by 3 different shops.

Shops | Number of | Number of | Number of
pencils sold | pens sold erasers sold

A 150 120 60

B 170 100 80

C 140 160 120

Number of pens sold by shops 'A' and 'C' together is
what percent of number of pencils sold by shops 'A’
and 'B' together?
(A) 37.5%
(C) 87.5%

(B) 62.5%
(D) 12.5%

In AABC, right angled at 'B', zBAC = 45° and AC =
6v2 cm. Find the length of AB.

A
45
B c
(A) 5V3 cm (B) 6v2 cm
(C)6cm (D) 6vY3 cm

If 5482X55 is divisible by 9, then what is the value of
'X'?

(A)7 (B) 6

(C)5 (D)8

The line graph given below shows the income (in
Zcrores) and expenditure (in Zcrores) of a company in
five years (Y1, Y2, Y3, Y4, and Y5). Study the graph
carefully and answer the following question.
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\
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¥ 380 360
320 300 260
240
Y1 Y2 Y3 Y4 Y5

= <%= Income (in Rs. Crores)

—f— Expenditure (in Rs. Crores)

The income of the company in year 'Y4' and 'Y5'
together is how much percent more than its
expenditure in year 'Y1' and 'Y3' together?

(A) 75% (B) 125%

(C) 150% (D) 100%

If i—z + i—: = 62, then what will be the value of;—z + z—z ?
(A) 488 (B) 341

(C) 510 (D) 123

Aditya's overall percentage in the final exam is 94%.
Later it was found that his math score was mistakenly
recorded as 85 instead of 58 and his English score
was mistakenly recorded as 65 instead of 56. Find the
actual overall percentage of Aditya in the exam if
maximum marks for the exam were 600.

(A) 87.6% (B) 87%

(C) 88% (D) 89%

In a triangle ABC right angled at 'B', if sin C = 19—0, then
what is the value of cosec? A?

100 19
(A) 12 (8) 2
€= (D)2

19

In AABC points 'X', 'Y', and 'Z' are the point on the
sides AB, BC, and AC, respectively. zZBAC = 60°, AZ
=XZ,ZC = ZY and 2ZYC = 80°. What is the value of
2XZY?

(A) 100°
(C) 150°

(B) 120°
(D) 80°

A sum when invested at simple interest of 18.2% p.a.
becomes %14,552 in 4.5 years. Find the sum.

(A) %8,000 (B) 7,500

(C) 26,000 (D) %4,500

Kevin and Ben started a business by investing in the
ratio 4:5, respectively. 6 months later, Kevin and Ben
increased their investments by 25% and 20%,
respectively. Find the ratio of annual profit shares of
Ben and Kevin, respectively.
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(A) 11:9 (B) 8:7
(C)7:8 (D) 9:11
If (a + b) = 8 and ab = 10, then find the value of (a? +
b?).
(A) 40 (B) 56
(C) 34 (D) 44

The income of Surya is ¥75,000. He spent 16 % of
his income on food, 60% of the remaining income on
rent and saved 44% of the income remaining after his
expenses on rent and food. Find the amount saved by

Surya.
(A) 12,000 (B) 11,000
(C) 13,200 (D) %9,600

If tan A = (24/7), then find the value of sec?A.

(A) (625/49) (B) (25/7)
(C) (125/49) (D) (125/7)

If x2 + xi = 38, then find the value of x3 — xi
(A) 198 (B) 234

(C) 216 (D) 210

General Awareness,

The first joint military exercise 'FRINJEX-23' between
the Indian Army and the French Army has been
conducted at which place?

(A) Jaisalmer (B) Thiruvananthapuram

(C) Pune (D) Vishakhapatnam
Where is Tansen's tomb located?

(A) Gwalior (B) Agra

(C) Jaipur (D) Jhansi

Mount Semeru is located in which country?
(A) Spain (B) Indonesia
(C) Egypt (D) Uzbekistan

The enzyme that converts glucose to ethyl alcohol is

(A) Diastase-
(C) Zymase

(B) Maltase
(D) None of the above

Vinegar is a commercial name of .
(A) Oxalic acid (B) Hydrochloric acid
(C) Acetic acid (D) Citric acid

What is a bug in computers?

(A) It is a high-level programing language
(B) It is a language translator

(C) It is an error in a program

(D) ltis a virus

The Human Development Index (HDI) was first
developed by which of the following?

(A) IMF (B) UNDP

(C) UNCTAD (D) UNICEF

Which of the following is the largest Biosphere
Reserve of India?
(A) Gulf of Mannar
(C) Panna

(B) Nanda Devi
(D) Nilgiri
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Public Interest Litigations was introduced by -
(A) A Parliamentary Act

(B) Judicial initiative

(C) A Constitutional Amendment

(D) None of the above

The 42" Amendment Act, 1976 of the Indian
constitution has added which of the following in the
preamble to the constitution?

(A) Secular (B) Sovereign

(C) Democratic (D) Republic

B.R. Ambedkar negotiated the "Poona Pact" with
Mahatma Gandhi in which of the following year?

(A) 1930 (B) 1931

(C) 1932 (D) 1940

What is used for holding program instructions that
can't be changed throughout the life of the computer?
(A) Register (B) ROM
(C) Cache (D) RAM

Where was the Maritime Technical Exposition MTEX-
24 inaugurated?
(A) Kochi

(C) Visakhapatnam

(B) Chennai
(D) Goa

Recently, Election Commission of India started the
‘Mera Pehla Vote Desh Ke Liye’ campaign with which
ministry?

(A) Ministry of Education

(B) Ministry of Home Affairs

(C) Ministry of Corporate Affairs

(D) Ministry of Defence

Kulasekarapattinam Spaceport, recently seen in the
news, is located in which state?

(A) Karnataka (B) Tamil Nadu

(C) Maharashtra (D) Gujarat

A cut diamond shines brilliantly due to:
(A) Absorption of light

(B) Some inherent property

(C) Its molecular structure

(D) Total internal reflection

Which part of the Indian constitution contains
provisions for the 'Union Public Service Commission'?
(A) Part XIl (B) Part XllI
(C) Part XIV (D) Part XV

Which of the following rivers enters India through
Shipki La pass?
(A) Sutlej
(C) Ravi

(B) Chenab
(D) Jhelum

Who among the following Gupta Kings had another
name 'Devagupta'?
(A) Chandragupta Il
(C) Kumaragupta

(B) Samudragupta
(D) Skandgupt

Who has written the book titled 'Collective Spirit,
Concrete Action'?

(A) Sanjay Wasnik

(B) Urvashi Prasad

(C) Padmavati Ravi

(D) Shashi Shekhar Vempati
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Consider the following statement(s) about Rhizobium
and find the INCORRECT one(s):

(I) Rhizobium is a genus of nitrogen-fixing bacteria.
(I1) Rhizobium forms a saprophytic relationship.

(Ill) Rhizobium is able to convert atmospheric nitrogen
into a form that can be used by the plant.

Select the code:
(A) Only |

(C) Only 11l

(B) Only Ii
(D) Both I and II

Where is the wild ass sanctuary?
(A) Assam (B) Rajasthan
(C)U.P (D) Gujarat

The collection of all bundles that the consumer can
buy with her income at the prevailing market prices is
called the .
(A) Budget constraint
(C) Budget set

(B) Budget line
(D) Budget anomaly

Who published the newspaper 'The Leader'?
(A) Ashutosh Mukherjee

(B) Madan Mohan Malviya

(C) Bal Gangadhar Tilak

(D) Pandit Sohan Lal Pathak

Which of the following writs literally means 'what is
your authority'?
(A) Quo Warranto
(C) Certiorari

English Language

In the following question, choose the word opposite in
meaning to the given word.

(B) Mandamus
(D) Habeas Corpus

DESTROY
(A) soar (B) create
(C) execute (D) explain

In the following question, choose the word opposite in
meaning to the given word.

HARSH
(A) jealous (B) moody
(C) kind (D) arrogant

Select the correct spelling of the word.

(A) desperate (B) desparate
(C) dasperate (D) desperete
Select the correct spelling of the word.
(A) agast (B) agasht
(C) aghast (D) agasth

In the following question, out of the four alternatives,
choose the one which best expresses the meaning of
the given word.

FURORE
(A) stain (B) disaster
(C) uproar (D) debate

In the following question, out of the four alternatives,
choose the one which best expresses the meaning of
the given word.

FAITHFUL
(A) gaudy (B) loyal
(C) kaput (D) polite
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82. In the question below, an idiom is given, followed by
four options. Select the option that gives the correct
meaning of the idiom.

PULL THE PLUG ON

(A) to be careful about what one says
(B) to end or terminate

(C) to suppress something bad

(D) to analyse something deeply

83. In the question below, an idiom is given, followed by
four options. Select the option that gives the correct
meaning of the idiom.

Hit it out of the park

(A) to succeed brilliantly

(B) to fail badly

(C) to annoy someone immensely
(D) to stop something suddenly

84. In the following question, one part of the sentence
may have an error. Select the option containing the
error as your answer.

A huge crowd has gathered around (A)/ the building,
which have (B)/ been cordoned off by the police. (C)/

No error (D)
(A) A (B)B
(C)C (D)D
85. In the following question, one part of the sentence

may have an error. Select the option containing the
error as your answer.

Recommendations circulated in the (A)/ news to
disinfect everything, (B)/ from desks to groceries. (C)/

No error (D)
(A) A (B)B
(C)C (D)D

Directions [86-90]: In the following passage some words have
been deleted. Fill in the blank with the help of the
alternatives given. Select the most appropriate option
for each blank.

She never looked back from that point on. She
__(A)__ the United Kingdom with a youth
orchestra, and by the time she was sixteen, she had
__(B)_ to make music her life. She auditioned for
the Royal Academy of Music and ___ (C)__ one of
the highest marks in the history of the academy. She
gradually moved from orchestral work to solo
performances. At the end of her three-year course,
she had ___(D)_ most of the top awards. And for
all this, Evelyn will not ___(E)___ any hint of heroic
achievement. "If you work hard and know where you
are going, you'll get there," she says.

86. Find the correct word in case (A).
(A) seized (B) toured
(C) adapted (D) leaped
87. Find the correct word in case (B).
(A) created (B) ignored
(C) complained (D) decided
88. Find the correct word in case (C).
(A) distributed (B) measured
(C) scored (D) hosted
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Find the correct word in case (D).

(A) captured (B) sliced
(C) quelled (D) nudged
Find the correct word in case (E).

(A) convince (B) forgive
(C) accept (D) threaten

In the following question, a sentence is given with a
phrase or idiom in brackets. Select the option given
below that can replace the bracketed phrase.

He never regretted (passing out) the chance to work
abroad at the cost of staying near to his family.

(A) passing away (B) passing off

(C) passing up (D) No improvement

In the following question, a sentence is given with a
phrase or idiom in brackets. Select the option given
below that can replace the bracketed phrase.

We used to(hang up)at the mall every other
weekend.

(A) hang on (B) hang out

(C) hand in (D) No improvement

Given below are four jumbled sentences. Out of the
given option pick the one that gives their correct
order.

P. However, irrational consumption and overutilization
of resources may bring about socio-economic and
environmental problems.

Q. Resources are essential for any developmental
activity.

R. As a result, many leaders and thinkers have voiced
their concerns about resource conservation in the
past.

S. To overcome these problems, resource
conservation at various levels is paramount.

(A) RSQP (B) PQSR

(C) QPSR (D) SRQP

Select the correct indirect form of the given sentence.
Samriddhi said to me, "I am trying to find my new
shoes."

(A) Samriddhi told me that she is trying to find her
new shoes.

(B) Samriddhi told me that she was trying to find her
new shoes.

(C) Samriddhi told me that she would be trying to find
her new shoes.

(D) Samriddhi told me that she had been trying to find
her new shoes.

In the following question, a sentence has been given
in Active/ Passive Voice. Out of the four alternatives
suggested, select the one which best expresses the
same sentence in Passive/ Active Voice.

A team of detectives has been taken to the area by
the police.

(A) The police took a team of detectives to the area.
(B) The police has taken a team of detectives to the
area.

(C) The police had taken a team of detectives to the
area.

(D) The police has been taking a team of detectives
to the area.
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Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is
no need to substitute it, select No improvement.

On my way back home, | (ran out of) into Rakesh.
(A) ran into (B) ran down

(C) ran up (D) No Improvement

Select the correct passive form of the given sentence.
| cooked your new recipe last night.

(A) Your new recipe is being cooked by me last night.
(B) Your new recipe had been cooked by me last
night.

(C) Your new recipe was cooked by me last night.

(D) Your new recipe is cooked by me last night.

In the following question, out of the four alternatives,
choose the one which can be substituted for the given
words/sentence.

One who can read and write
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(B) volunteer
(D) literate

(A) epitaph
(C) sacrilege

Select the most appropriate word to fill in the blank.
She is the only woman in the world who has
Mount Everest twice.
(A) delivered

(C) encouraged

(B) scaled
(D) lifted

In the given sentence, a blank is given indicating that
something is missing. From the given four options,
choose the one that provides the correct word to be
filled in the blank, thereby making the sentence
grammatically and contextually correct.

The army had been kept deliberately small to

abuses of power by the king.

(A) praise (B) prevent

(C) permit (D) perish
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